oY 30 : i
7 FACTOR Grenadier Rear License Mount Install

O %

GP Factor assumes no liability for proper or improper installation of this kit or any use of this kit with your
vehicle. If you are installing this kit, you agree to these terms and assume all liability for the installation
and use of this kit. GP Factor does not provide a warranty for this product against improper installation or
wiring or improper battery installation. GP Factor assumes no responsibility for any damage caused to or
by this product resulting from a collision or crash. Installation of this kit may void certain factory warranty
items on your vehicle. If you are unfamiliar with installing parts on trucks, disassembly and reassembly of
a system like this, please have a qualified GP dealer do this install.

BEFORE STARTING:
READ THROUGH THIS INSTALLATION MANUAL

INCLUDED IN THIS KIT:
« X1 License Plate Mount
TOOLS NEEDED: + X4 1/4” Washers X4 1/4” Nylon Nuts
I 7;?;%;';?;[ Wrench » X1 Pack of Vibratite thread locker
« X2 M6 Flathead 25mm Screws Black
» X2 Spacers for M6 screws behind plate mount

Lorem ipsum

STEP 1: Remove your license plate and facotry
mount and all hardware exposing the facotry
bumper, and 2 holes where the facotry M6 threaded
locations are (Pictured)




oy : :
7 Cl>=é\c:T0R Grenadier Rear License Mount Install
O o

STEP 2: Take the included spacers, and
place them behind the plate in the gap
on each screw location where you will
screw in the provided M6 flat head
screws and the plate mount.

Step 3: Using the provided M6 Flat Head screws, vibratite, and your 4mm Allen tool, attach
the bracket to your factory bumper. hand tighten with a 1/2 turn after.

[ ® PENNSYLVANIA ®

STEP 4: Attach your license plate using the
provided 1/4” washers and nuts with your 7/16

socket wrench.




